56,

138,

500




0-000 2

06-******-60530-10

1 ( )
0-06.06.10(0)

oORr Rk

07
01
19
01
01
01
12

06-******-60530-10



0-0003

138,

500

138,

500

06 -

* * * * * %

-60530-10

138

138



0-0004

| K
| 28,152, 364
| *)
? 25,903,160
2 3)
? 25,903,160
728 A FS—
| 1 22,160,000 060610
B
| 2 465,400 060610
B
| 4 970,400 060610
B
6 1,514,400 060610
4 m3 305.040 060610

06 -

|
* * * * * %

-60530-10



0-0005

12 299,520 06061
1 188, 400 06061
2)
2,249,204
3)
1,834,304
4)
mp2 91,611
t§:10cm 777777777777777777777777777777777777777777777777777777777
| 351 91,611 06061
| )
§ 580,311
6m 0
| 474 307,626 06061
i ( )
DI D 1.0km (0.5km )
‘ 474 _m3 222,685 06061

06 -

|
* * * * * %

-60530-10



0-0006

| *
§ 633,264
6em |
| 474 633,264 06061
| )
| 579,118
- ( )
S .
| 35 m3 32,364 06061
6em |
| 474 307,626 06061
i ( I SO S
DI D 1.0km (0.5km )
‘ 509 m3 239,128 06061
3)
289, 476
4)
t 92,610
25t
7 t 92,610 06061

06 -

|
* * * * * %

-60530-10



0-0007

4)
m2 128,928
25t |
48 m2 39 60 06061
48 89 68 06061
4)
t 47 22
25t |
7 t 47 22 06061
4)
m2 20 16
25t |
48 mp2 20 16 06061
3)
125, 424
4)
125,424

06 -

|
* * * * * %

-60530-10



0-0008

B
’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 0606 1
9 125, 424
28,152,364
104, 400
( 1H ]
18. 4km
12m
1 104, 400 0606 1
357,000
3,048,000
3,509,400
31,661, 764
11,286,000

06 -

|
* * * * * %

-60530-10



000009

42,897,764
777777777777777777777777777777777777777777777 8,120,077
77777777777777777777777777777777777777777777777777777 17,1509
77777777777777777777777777777777777777777777777 8,137,236
51, 085,000
77777777777777777777777777777777777777777777 5,103,500
56, 138,500

06 -

!
* ok ok ok K ok

-60530-10



0-0010

VO0O0O7 0O -0001
FOOOOO0O0OO0OO0OO1
©267.4-1t6.6_D41*12 G*15 L=9580mm 740, 000 1 40,000
(tvype-E H=4.0m Df =5. 5m)
FOOOOO0O00O0O02
©267.4-1t6.6_D41*12 G*15 L=9580mm 740, 000 1 40,000
(tvype-E H=4.0m Df =5. 5m)
FOOOOO0O0OO0OO0O3
©267.4-1t6.6_D41*12 G*15 L=10880mm 820, 000 7 830, 000
(tvype-E H=4.0m Df =6. 0m)
FOOOOOOOO0OO4
©267.4-1t6.6_D41*12 G*15 L=10B80mm 900, 000 11 00, 000
(tvype-E H=4.0m Df =6. 5m)
1 22 60, 000

06 -

* * * * * %

-60530-10



0-0011

( ) V0009 0 -0002
1
RTPCO000O9
0.71 25, 272 17,943
9
RTPCO00O0O4
0. 71 25, 064 17,795
9
RTPCO00001
0.71 22|, 464 15,949
9
RTPCO000O 2
1. 42 17, 472 24,810
9
FO0O00000012
1 0 0
- 25 _ S9000059 0-0003
30k W 0. 71 46| 210 32,800
9
- 25 _ S900006 3 0-0004
382 457mm 0. 71 18,500 13,135
9
- 16 _ S9405 0-0005
18.0 19.0m3/ min 2. 13 27 230 57,9909
9
#009
20 % 180, 440 52,260
1 32,700

06 -

* * * * * %

-60530-10



0-0012

- 25 _ S90000659 0O -0003
30k W
M1409
1. 28 36, 100 46, 208
30k W
#91
1 2
1 46, 210
A=2 30k W B=1.28 ( I )

= 36,100

06_******

-60530-10



0-0013

- 25 S900006 3 0O -0004
382 457 mm 1
M1060049
1. 37 13,500 18, 495
©382 457 mm
#9 1
1 5
1 18, 500
A=3 382 457mm B=1.37 ( /)
= * ( / )+ ( 1.1
= ©,580 *| (70 120) + ([7,777.0)

06-******-.60530-10



0-0014

-16 _ S9405 0 -0005
18. 0 19. 0m3/ min
TTPCOO0OO0O13
114. 00 L 146 16, 644
< > ( ) KR020051
18. 0 19. 0m3/ min . 7TMPa. 33 960 10, 586
#91
1 0
1 27,230
A=9 18\, 19. 0m3/ mi B=114 (L/ )
C=1.33 ( ) D=2

06 -

* * * * * %

-60530-10



0-0015

( ) V0010 0 -0006
1
RTPCO000O9
0.74 25, 272 18,701
9
RTPCO00O0O4
0. 74 25, 064 18,547
9
RTPCO00001
0.74 22|, 464 16,623
9
RTPCO000O 2
1. 48 17, 472 25,858
9
FO0O00000012
1 0 0
- 25 _ S9000059 0-0003
30k W 0. 74 46,210 34,195
9
- 25 _ S900006 3 0-0004
382 457mm 0.74 18,500 13,690
9
- 16 _ S9405 0-0005
18.0 19.0m3/ min 2. 22 27 230 60, 450
9
#009
20 % 188, 064 54,536
1 42,600

06 -

* * * * * %

-60530-10



0-0016

( ) V001 0 -0007
1
RTPCO000O9
77 25, 272 19, 459
9
RTPCO00O0O4
77 25, 064 19,2909
9
RTPCO00001
77 22| 464 17,297
9
RTPCO000O 2
.54 17, 472 26,906
9
FO0O00000012
0 0
- 25 _ S9000059 0-0003
30k W .77 46| 210 35,581
9
- 25 _ S900006 3 0-0004
382 457mm .77 18, 500 14,245
9
- 16 _ S9405 0-0005
18.0 19.0m3/ min .31 27, 230 62,901
9
#009
2 % 195, 688 56, 712
52,400

06 -

* * * * * %

-60530-10



0-0017
SPK23040155 0 -0008
1 m3
0.00% 83. 71% 16. 29 % 0.00% 87,60
) ( ) )
RTPC000(d?2
56. 03% 17, 472 22, BROUPTO000(2
RTPC000d9
27.52% 25,272 26, RUPT000d9
( ) ( ) EROO0O
117.67 0
B TTPC0OO0O043
10. 64% 21,20025kg 17, 600T000643
( ) TTPC0OO0OO046
5.65% 3,300 ( ) 4, TZBPTO00046
EPOO1
76,260 0
A=1 B=1 - ( )
76, 255. 7861 = 87,605.0000 *
+ ([56.030/100*17,472/22,300] [ 27.520/100 * 25,272/26,500]) * [8B.710/(54§.
+ ([10.640/100*21,200/17,600] [ 5.650/ 100 * 3,300/4,720]) * [16.290/(10.640-
+ [100-83.710-16.2901/100
06-****+x_60530-10



0-0018

v0oO0oO 0 -0009
10
RTPC0O0O0O09
.50 25|, 272 37,908
1
RTPC0OO0OO0O01
.00 22, 464 67, 392
1
RTPC0OO0O0O2
.00 17, 472 52,416
1
< > ( KTPCOO0OO014
25t .50 58,100 87,150
#01
.00 157, 716 4,731
#91
3
1 49,600
24,960

06 -

* * * * * %

-60530-10



S1030015

0 -0010

0-0019

RTPCOO0OO0O09

1.0 25, 272 25,272
RTPC0O0OO0OO04
1.0 25, 064 25,064
RTPC0OO0OO0O01
2.0 22, 464 44,928
RTPC0OO0O0O2
2.0 17, 472 34, 944
< > ( KTPCOO0OO014
25t 1.0 58,100 58,100
#91
1 92
1 88, 400

06 -

* * * * * %

-60530-10



0-0020

VO0OOS8 0O -0011
t =10cm 10
SPK23040003 0-0012
( ) 1 119. 119
(10, 000m3 )
FOOOOO0OOO0O13
RC-40 1 500 2,500
#91
1 0
10 2,619
1 261

06-******-.60530-10



00021
SPK23040003 0 -0012
( ) (10, 000m3 ) 1 m3
23.64% 48.23% 28.13% 0. 00 % 12
( ) ( ) ( )
< > ( ) KTPCOO0OO018
0. 8m3( 0. 6m3) 23.64% 10,700 8, BUPT00018
0.8m3( 0. 6m3)
( ) RTPC0O0O0d®6
48.23% 20,592 25, BRUPTO0O00d6
TTPCO0O0O013
28.13% 146 TEBTO00013
EPOO1
119. 6 0
A=2 ( ) B=1 (10, 000m3
c=1
119.5211 = 122.2600 *
([ 23.640/100*10, 700/8,800]) * [23.640/23.640]
+ ([48.230/100*20,592/25,300]) * [48.230/48.230]
+ ([28.130/100*146/138]) * |[28.130/28.130]
+ [100-23.640-48.230-/28.130]/100

06 -

*x ks x % _60530-10



0-0022

S0822 0O -0013
6 m 10
RTPCOO0O0O0O09
0. 069 25, 272 1,743
RTPCO0OO0O0O01
0. 069 22, 464 1,550
- 28 ( ) S9035 0-0014
2.9t 0. 8m3 0. 069 46, 470 3,206
#91
1 0
10 6, 499
1 649
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

06-******-.60530-10



0-0023

- 28 _ ( ) S9035 0 -0014
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
78.00 | 146 11,388
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.26 11,500 14,490
#91
1 0
1 46,470
A=21 ~ 0.8m3 PB=78 L/ )
c=1 ) D=1.26 ( /)
06-******_60530- 10



SPK23040002 0 -0015

( ) DI D 1.0km (0.5km )
46.25% 38.07% 15. 68% 0.00%
( ) ( ) (
[ ] [ ]
10t 46.25% 21,96710t

38. 07% 18,824

15. 68% 146
469.8
A=1 B=1 0. 8m3(
c=1 ( ) D=1 DI D
E=4 1.0km| (O0.5km )
MTPCOO0O018T1 = Y / )+ ( *1.1) +
= 11,430 |* (830 / |180) + (14,740.0) + 667 = 21,
469.7218 = 471.0800 *

([46.250/100*21,967/20,667]) * [46.250/46.250]

+ ([38.070/100*18,824/21,100]) * [38.070/38.070]

+ ([15.680/100*146/138]) *|[15.680/15.680]

+ [100-46.250-38.070-15.680]/100

06-******-.60530-10

~N ~




0-0025

S0822 0O -0016
6 m 10
RTPCOO0O0O0O09
. 116 25, 272 2,931
RTPCO0OO0O0O01
. 116 22, 464 2,605
RTPCOO0O0O0O0O?2
. 116 17, 472 2,026
- 28 ( ) S9035 0-0017
2.9t 0. 8m3 . 116 49, 960 5,795
#91
3
1 13, 360
1, 336
A=1 B=1 6m
= 1 *~ 10 [/ D = 1 *, 10 /| 86 = 0.116 ( 4
= 1 * 10 [/ D = 1 * 1 / 86 = 0.116 | ) 4 3
= 1 * 10 [/ D = 1 * 1 /| 86 = 0.116 | ) 4 3
= 10 / D = 11 / 6| = 0.116 ( ) 4 3

06 -

* * * * * %

-60530-10



0-0026

- 28 _ ( ) S9035 0 -0017
2.9t 0.8m3
RTPCOO00OG6
1.00 20|, 592 20,592
TTPCOOO013
94 .00 | 146 13,724
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.36 11,500 15,640
#91
1 4
1 49,960
A=21 _ 0.8m3 =94 L/ )
c=1 ) D=1.36 ( /)

06_******

-60530-10



( ) SPK23040007 0 -0018

( )
28. 44% 59.55% 12.01% 0.00%

( ) ( ) (

2 28.44% 8,1

©
o
N

59. 55% 20,592

12.01% 146
924.7
A=1 B=4 ( )
MTPCOO0OG6 2 = Y / )+ ( * 1.1)
=713 * | (690 / 180) + (5,478.0) = 8,190

924.6681 = 1,011.4000 |*

([28.440/21200*8,1290//7,700]) * [28.440/28.440]

+ ([59.550/100*20,592/25,300]) * [59.550/59.550]

+ ([12.010/100*146/138]) *|[12.010/12.010]

+ [100-28.440-59.550-12.010]/7100

06-******-.60530-10




0-0028

S0822 0O -00109
6 m 10
RTPCOO0O0O0O09
0. 069 25, 272 1,743
RTPCO0OO0O0O01
0. 069 22, 464 1,550
- 28 ( ) S9035 0-0014
2.9t 0. 8m3 0. 069 46, 470 3,206
#91
1 0
10 6, 499
1 649
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

06-******-.60530-10



0-0029

S1020 0 -0020
25t 10 t
RTPCOO0OO021
0.620 37, 440 23,212
9
RTPC00020
2.100 29|, 848 62,680
9
RTPC0OO0O0O2
0.410 17, 472 7,163
9
< > ( KTPCOO0OO014
25t 0.580 58,100 33,698
#09
6 % 93, 055 5,547
10 it 32,300
1 t 13,230
A=1 B=1 25t

06 -

* * * * * %

-60530-10



0-0030

S1022 0 -0021
251t 100 m2
RTPCOO0OO0OO0Y9
0.450 25, 272 11, 372
9
RTPCOO0OOOA4
1.500 25, 064 37,596
9
RTPCOO0OO0OO2
0.270 17, 472 4, 717
9
< > ( KTPC0OO0OO014
25t 0.470 58, 100 27,307
#09
2 % 53, 685 1,008
100 m2 82,000
1 m2 820
A=1 B=1 25t

06_******

-60530-10



V001

0 -0022

0-0031

FOOOO0OO0O0OO014

.73 050 766
90
FOOOO0OO0OO0OO01S5
100 1,100
1,866
06-******-.60530-10



0-0032

S1020 0 -0023
25t 10 t
RTPCOO0OO021
0.340 37, 440 12,729
9
RTPC00020
1.000 29|, 848 29, 848
9
RTPC0OO0OO019
0.130 27|, 768 3,609
9
RTPC0OO0O0O2
0.170 17, 472 2,970
9
< > ( KTPCOO0OO014
25t 0.290 58,100 16, 849
#09
5 % 49, 156 2,455
10 it 68, 460
1 t 6, 846
A=2 B=1 25t
06-******_.60530-10



0-0033

S1022 0O -00214
25t 100 m2
RTPCOO0O0O09
0.270 25|, 272 6, 823
9
RTPCOO0O0O04
0.800 25, 0614 20, 051
9
RTPCO0O0O0?2
0.120 17, 472 2,096
9
< > ( KTPC00014
25t 0.210 58, 100 12,201
#09
2 % 28, 970 529
100 mp 41, 700
1 m_2 417
A=2 B=1 25t

06_******

-60530-10



0-0034

( , H , ) S1000007 0 -0025
18. 4km 12m 1
S10000009 0-0026
18. 4km 1.000 36|, 756 36, 756
12m 10.296¢
+00
36, 756 7336, 755162% 2
, S10000009 0-0027
1.000 30, 888 30, 888
1 104,400
A=18. 4 ( km) B=1 12m
c=1 - D=1 -
E=10.296 (t) F=1 -
H=1 - J=1 -
L=1

06-******-.60530-10



0-0035

S10000009 0 -0026
18. 4km 12m 10.2096t
Juoo1
. 000 570 3,570
t E0001
. 296t 570 36, 756
36, 756
A=1 B=18. 4 ( km)
c=1 12m D=10.296 (t)

06 -

* * * * * %

-60530-10



S1000009

0 -0027

0-0036

KROOEOOG

X >
o
P o

10.296 750 7,722
KROOEOODO9

10.296 750 7,722
KROOEOOS

10.296 750 7,722
KROOEOO?7

10.296 750 7,722

1 30, 888

D=10.296 (t)

06 -

* * * * * %

-60530-10



0-0037

(0. 4 . 8)( 1. 5. 9) (2. 6) ( 3. 7)

FOOOOO0OO0OOOO1 1,740, 000
©267.4-t1t6.6_D41*12 G*H15 =9580mm
(type-E H=4.0m Df =5. 5m)

FOOOOO0O0OOOO2Z2 1,740, 000
©267.4-1t6.6_D41*12 G*H15 =9580mm
(type-E H=4.0m Df=5. 5m)

FOOOOOOOOOS 1,820,000
©267.4-1t6.6_D41*12 G*H15 =10080mm
(type-E H=4.0m Df =6. 0m)

FOOOOO0O0OOO0OOA4 1,900,000
©267.4-1t6.6_D41*12 G*H15 =10580mm
(type-E H=4.0m Df =6. 5m)

FOOOOO0O0OOO0O12 0

FOOOOO0O0OOO0O13 2,500
RC-40

FOOOOO0O0OOO0O14 1,050
90

FOOOO0OO0O0OOO0O15 1,100

06_******

-60530-10



